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48 Reversing cart

At an initial instant a cart travels to the left with speed 12m/s. Subsequently the cart’s
acceleration is 4.0m/s?, (111F2023)

a) Iow long does it take for the cart to reverse its direction of travel?

b) How far does the cart travel before it reverses its direction of travel?
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74 Vector addition: algebraic method, 4

y A

Two displacement vectors, A and B are illustrated, 8

(111F2023)
a) Determine the components of C = A + B, 93.0m .
|
b) Determine the magnitude of C. I
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95 Ball thrown horizontally
A ball is thrown, leaving the hand horizontally at a height of 2.0m above the ground. Tt
lands a horizontal distance of 5.0 m from where it left the hand. (111F2023)

a) Determine the time from when the ball leaves the hand until it hits the ground. |
b} Determine the speed with which the ball leaves the hand, 1
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